Varnamo BK

Mandagsbridge hcp 2019-04-15

SCRATCH

Partavling, 8 bord, 15 par. Antal brickor: 18. Medel: 108.3. Frirond (*) ger egen procent.

Plac  Par Poang % Namn MID Klubb
1 13 140.6 65.10  Rose-Marie Jarl - Bernt Lundh 10408 16029  Varnamo BK
2 4 140.0 64.81 UIf Wallin - Kent Larsson 58522 66970  Véarnamo BK
3 15 130.5 60.42  Olof Danas - Lennart Karlsson 57931 60996  Varnamo BK
4 2 128.0 59.26  Regitze Lilliecreutz - Lars-Gosta Carlsson 60210 49221  Véarnamo BK
5 16 127.1 58.85  Tom Lindén - Lars Sandvall 40461 41284  Varnamo BK
6 11 115.9 53.65 Lennart Munge - Bengt Martensson 47114 84350 Varnamo BK
7 6 107.0 49.54  Héléne Posse - Irene Hillerhag 80391 58175  Varnamo BK
8 9 103.5 47.92  Abbas Siranlou - Torbjorn Jigander 49217 57909  Varnamo BK
9 8 102.4 47.40 Ingrid Larsson - Olle Staaf 47112 84484  Varnamo BK
10 12 101.3 46.88  Jan-Bertil Strandberg - Marianne Nilsson 49225 61483  Varnamo BK
11 14 96.8 44.79 Per-Axel Warna - Monica Ericsson 66968 89087  Varnamo BK
12 10 92.3 42.71 Lilian Olin - Ake Andersson 51568 66974  Varnamo BK
13 7 86.0 39.81 Ulla Warna-Karlsson - Lennart Salomonsson 60997 44393  Véarnamo BK
14 3 80.0 37.04  Aina Petersson - Jan-Ake Nilsson 58521 66973  Véarnamo BK
15 5 73.0 33.80 Goran Posse - Eva-Marie Stigsson 80390 61484  Varnamo BK
1 4 EKn62 Basta kontrakt 2 & K642 Basta kontrakt 3 4 K6 Basta kontrakt
Nord v764 34 N =140 Ost v76 4¢ SD-1-200 Syd vED43 4¢ V =-130
Ingen + 86 NS + Kn10965 ov + KKn6
#DKn96 & ¢ v & NT &EK & ¢ v & NT D874 & ¢ v & NT
453 & K97 N6 7 6 96 4 E108 & DKn953 N89 3414 49 4ED10872 N 7 3 6 5 6
vE1085 ¢932 S6 76 96 v EKKn9842 vD5 S 89344 v K76 vKn102 S72555
¢ KDKn ¢1043 O756 46 + K ¢ D42 0549909 498432 ¢ ED107 O6 107 8 7
#E532 #K874 V75646 #93 D64 V54999 #KKn103 &- vV 6 107 8 7
4 D1084 a7 & Kn543
v KDKn v 103 v 985
¢ E9752 ¢ E873 5
«10 #Kn108752 #E9652
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 15 24 N+1 &7 140 100 20|10 5 4v V-1 A 50 11.0 10|12 3 INN-1 a7 -50 12.0 0.0
6 12 24 N+1 &7 140 100 20|13 3 4v V-l »A 50 110 10| 2 10 14 0= +5 -80 10.0 2.0
7 14 24 N+1 &7 140 100 20| 4 15 3v V= &A -140 80 40 5 9 240= +5 -110 50 7.0
8 16 24 N= &7 110 6.0 6.0 6 12 3v V+1 SA -170 40 80|11 6 24 0= +5 -110 50 7.0
10 5 1l¢ S+1 ¢J 90 30 90| 7 14 3vV+1 »A -170 40 80|14 4 24 0= +5 -110 50 7.0
11 2 INN= LY 90 30 90| 8 16 3v V+1 &J -170 40 80|16 15 24 O= +5 -110 50 7.0
13 3 34 S-1 +K -50 0.0 12011 2 4v V+1 &K -450 0.0 12.0| 7 13 24 O+1 +5 -140 0.0 12.0
-9 58| - 9 58| - 8 5.7
4 4873 Basta kontrakt 5 4 KDKn1053 Basta kontrakt 6 4 K1072 Basta kontrakt
Vast vD732 ANTOD-1200 |[Nord vK4 2v O =-110 Ost v Kn96 24 S =110
Alla + D65 NS ¢54 ov ¢ K73
#Kn98 & ¢ v & NT #653 & ¢ v & NT #Kn62 & ¢ v & NT
410 4 K9 N4 55 104 4964 4 E72 N43374 4 D93 4 E5 N657 87
v54 vEKN1096 S 4 55 9 4 vE5 vD10862 S 43374 vED10 vK87 S65787
+973 ¢ K1042 09 88 39 ¢ K9863 ¢ DKn O8 886 7 + DKn96 ¢ 10854 O7 8556
&#EKD10743 #52 V97734 &EK9 &D72 V 88867 #1054  #K983 V78556
# EDKNn6542 48 4 Kn864
v K8 v Kn973 v 5432
+ EKn8 ¢ E1072 ¢ E2
*6 #Kn1084 #ED7
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
16 15 44 S= &A 620 120 00| 2 9 3vO0O-2 48 100 11.0 10| 2 9 14 N+2 v7 140 12.0 0.0
2 10 34 S+1 «A 170 100 20|15 14 3v O-2 48 100 11.0 1.0| 3 11 Pass 6.0 6.0
5 9 34S= &A 140 80 40| 3 11 3NO-1 &8 50 70 50| 5 8 Pass 6.0 6.0
12 3 44 V- 48 100 60 6.0 5 8 3¢V-1 &K 50 70 50| 6 10 Pass 6.0 6.0
7 13 34 S-1 &K -100 30 90| 6 10 24 N-1 +Q -100 3.0 9.0|13 4 Pass 6.0 6.0
14 4 44 S- &A -100 30 90|12 7 24 N-1 v6 -100 3.0 09.0|15 14 Pass 6.0 6.0
11 6 3NO= 4 A -600 0.0 120|113 4 3¢ V= &K -110 0.0 12012 7 2¢ V+1 a7 -110 0.0 12.0
- 8 57| - 16 71| - 16 7.1
7 4 ED93 Basta kontrakt 8 » 10865 Basta kontrakt 9 #9532 Basta kontrakt
Syd v52 5v V =-650 Vast v DKn42 2NTV =-120 Nord v EKn85 3¢ O =-110
Alla + EKn76 Ingen + EKn6 ov *2
#Kn109 & ¢ v & NT #95 & ¢ v & NT #D632 & ¢ v & NT
4 K8 4752 N67 273 & K74 4 DKn3 N355605 « D84 & KKn6 N6 36765
vE7 vKD109864 S 6 7 2 7 4 v10975 vEKS8 S35565 vKD1074 v- S6 3675
K984 ¢3 O 7 5 105 6 +9742 ¢ 108 097878 +53 ¢ EKKn10987 O 7 9 7 6 7
#ED732 #65 V 75 116 9 KD #EKn1084 V 9 7 8 7 8 »E74 #Kn95 V797867
4 Knl1064 4 E92 4 E107
v Kn3 v63 v 9632
+ D1052 + KD53 + D64
*K84 »7632 #K108
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
2 8 4v0-1 ¢2 100 100 20| 2 8 2v0O= +3 -110 11.0 10|15 5 5¢ O-2 «A 200 120 0.0
4 12 4v O-1 46 100 100 20| 3 10 2v V= +6 -110 11.0 10| 6 8 5¢ O-1 8 100 8.0 4.0
6 9 4v0-1 ¢5 100 100 20| 4 12 INO+1 +3 -120 6.0 6.0[13 12 5¢ O-1 «A 100 8.0 4.0
3 10 3vO= +5 -140 6.0 6.0 516 2NO= *+ K -120 6.0 6.0[{16 2 3NV-1 &2 100 80 40
7 11 14 S-2 +8 -200 40 80| 6 9 INO+1 +5 -120 6.0 6.0 7 10 3¢ O= 4 A -110 40 8.0
14 13 4v O= &4 -620 2.0 10.0| 7 11 INO+2 a2 -150 1.0 110 3 9 2¢ O+2 »8 -130 2.0 10.0
5 16 3NV +2 a3 -660 0.0 12.0|14 13 INV+2 v2 -150 1.0 11.0| 4 11 3NV= v8 -600 0.0 12.0
15 - 7.3 15 - 7.3 - 14 5.4
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10 410 Basta kontrakt 11 41093 Basta kontrakt 12 aKn Basta kontrakt
Ost vD3 5& S =600 Syd v Kn976 5& V =-400 Vast v Kn975432 54 V =-450
Alla + EDKn10 Ingen + Kn972 NS + DKn5
#EK10653 & ¢ v &N #93 & ¢ v &N #52 E IR AP
K76 « ED532 N 116 7 6 8 Ly « EKn87 N2 2463 49832 4 KD1076 N6 29 2
v 109874 vE6 S 116 7 6 8 vD54 v K103 S2246 3 vEK v- S6 292
¢ 532 + K9876 027674 + KD543 ¢ E10 O 11108 7 8 + K962 ¢ E10843 07 114 11
#87 &Kn V2761734 K764  #DKn108 V 11108 7 8 #1063 #EKn9 vV 7 114 11
4 Kn9g4 & KD652 4 E54
v KKn52 v E82 vD1086
*4 + 86 *7
«D942 #E52 »KD874
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
15 5 3&#N+3 vA 170 120 00| 8 3 2NO-3 «K 150 120 00| 8 3 4vN-1 oT -100 11.0 1.0
4 11 3& N+2 ¢6 150 80 40| 2 15 3NO-1 a2 50 90 30(14 5 3vN-1 +K -100 11.0 1.0
6 8 3#N+2 vA 150 80 40|12 11 2NO-1 45 50 90 30| 4 10 34 O+2 &8 -200 8.0 40
16 2 4 N+1 42 150 80 40|14 5 1s4S-1 ¢+ K -50 6.0 60|16 6 44 O= ¢7 -420 6.0 6.0
7 10 34 O-1 ¢4 100 30 90|16 6 24 S-2 v4 -100 40 80| 2 15 44 O+1 *7 -450 2.0 10.0
13 12 2¢ O-1 &2 100 30 90| 7 9 240+2 +8 -130 20 100 7 9 44 O+1 *7 -450 2.0 10.0
3 9 360= *4 -140 0.0 120| 4 10 34 S-3 +3 -150 0.0 12.0(12 11 44 O+1 &4 -450 2.0 10.0
- 14 54| - 13 78| - 13 7.8
13 492 Basta kontrakt 14 4 D94 Basta kontrakt 15 4 E942 Basta kontrakt
Nord v K43 44 O =-620 Ost vKnl0 3v O =-140 Syd vD10 24 S =110
Alla ¢ Kn72 Ingen + D75 NS 465
#E10632 LI A Y #K10876 & ¢ v &N #K10873 LI A
 KKn « D7653 N53 33 2 Kn862 #4E7 N6 346 4 «Knl108 4D73 N858 8
vDKn9 ¢E1076 S5333 vD5 v E9742 S 6 346 4 vE974 K S 8588
¢ E9864 ¢ K10 07 9 1010 ¢ Kn93 ¢ EK106 06 9978 410984 ¢ ED732 O5755
&#KKn7 #95 vV 7 9 1010 #Kn943 #E2 V699738 D2 #Kn654 V5755
« E1084 4 K1053 & K65
v 852 v K863 v Kn86532
+ D53 ¢ 842 ¢ KKn
+D84 «D5 *E9
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
15 6 2NV-2 &2 200 120 00|11 10 1vO= a5 -80 120 00| 4 8 24 N= ¢A 110 10.0
2 14 INV+1 *2 -120 100 20|15 6 24 S-2 vQ -100 100 20| 5 12 2v S= ¢4 110 10.0
11 10 24 V+1 &2 -140 80 40| 3 16 1vO+1 &5 -110 70 50(16 7 2vS= «Q 110 10.0
8 7 INV+2 &T -150 60 60| 9 4 1lvO+1 45 -110 70 50| 2 13 3¢ O-2 «A 100 5.0
9 4 24 O+2 »8 -170 40 80| 8 7 INO+1 43 -120 40 80|10 9 3#0-2 +J 100 5.0 .
3 16 3NV= »6 -600 20 100| 2 14 1v O+2 a3 -140 20 10.0| 3 15 3vS-1 +4 -100 1.0 11
5 13 3NV +1 v3 -630 0.0 120| 5 13 1v O+3 43 -170 00 120| 6 14 4v S-1 *Q -100 1.0 11
- 12 56| - 12 56|11 - 6.4
16 «ED75 Basta kontrakt 17 a2 Basta kontrakt 18 432 Basta kontrakt
Vast vE76 44 N =420 Nord v 106 5v O =-450 Ost v54 5¢ O =-400
ov + KKn43 Ingen + EKKn10942 NS 4 Kn102
*64 & ¢ v &N *Kn76 & ¢ v &N #E108632 & ¢ v &N
aKn64 498 N 8 9 8 109 4« EKn1053 4874 N3 9236 «D9 & K8654 N6 2442
v98542 ¢D10 S6 9899 v EK93 v DKn854 S39246 vD v EK1076 S6 2442
+ 102 ¢+ ED85 054533 .- ¢7 O 104 119 6 ¢+ EK98754 ¢D 07 119 9 9
#1095 &ED872 V54533 £10843 #E952 V 104 119 6 &KKn4 »97 vV 7 119 9 9
» K1032 » KD96 & EKn107
v KKn3 v72 v Kn9832
4976 + D8653 463
#KKn3 +«KD #D5
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 8 44 N= ¢A 420 120 00| 4 16 4¢ N= 8 130 120 00| 7 15 44 O-2 ¢6 100 120 0.0
16 7 34 S+2 &T 200 100 2012 2 4¢ N-1 v4 -50 100 20| 4 16 3¢ V+2 &A -150 9.0 3.0
3 15 34 S+1 &5 170 6.0 6.0 3 14 5¢ N-2 v4 -100 6.0 6.0|12 2 3¢ V+2 &3 -150 9.0 3.0
5 12 34 N+1 +8 170 6.0 6.0/ 5 11 5¢ N-2 v4 -100 6.0 6.0 3 14 3NV +1 &3 -430 6.0 6.0
6 14 34 S+1 9 170 6.0 6.0 6 13 5¢ N-2 vQ -100 6.0 6.0 6 13 3NV+2 &3 -460 40 8.0
2 13 34 S= ¢2 140 20 10.0| 7 15 5¢DN-2 &A -300 20 10.0| 5 11 3NV +3 &8 -490 2.0 10.0
10 9 34 S-1 2 -50 00 120| 9 8 4e V= ¢A -420 0.0 120 9 8 4NDO+2 8 -810 0.0 12.0
1 - 6.4 10 - 5.1 10 - 5.1
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